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1. 2001 #1 geFT # 2011 H BefETE TS H
SEEn o # 316 g8
(a) 25
(b) 30
(c) 35
(d) 4
45

o 1, €1 2T SUTEAE SN e A
¥ arta 2012-13 & g meTfrene™ &
 rEl o wfdrerer fa T

T, HTHETE W, gRiEa,
Vm/amﬁg{

(b) TTE. 3T, Setee HETE,
ALERE

(c) Y. TA.3.TH. HETered, Sy

(d) T, = L. weTteEe, g

(e) v fefesm e, TSHTETE

3. WG EaRciREs kR R
) WA R
(b) IR TR
(c) WA s
C)RIEIEEISIC
(e) Ul HieT
4, mﬂw@ﬁaﬁémz—mﬁrﬁm@ﬁaﬁw
. Seared e e o ?
(j (a) 33,495 @ %.

I\Q\

In comparison to 2001, the increase in
population density in 2011 in
Chhattisgarh is

(a) 25
(b) 30
(c) 35
(d) 40
(e) 45
Which college students got training

under Pt. Deen Dayal Upadhyay Skill
Development Yojana in 2012 — 13 7

(a) Govt. Kaktiya P.G. College,
Jagdalpur

(b) Govt. J.Y. Chhattisgarh College,
Raipur

(c) Govt. N.E.S. College, Jashpur

(d) Govt. V.Y.T. College, Durg

(e) Govt. Digvijay College,
Rajnandgaon

What is Bahadur Kalarin Ki Machi from

the following ?

(a) Ancient Monument

(b) Ancient Township

(c) Ancient Chouliry

(d) Ancient Pond

(e) Ancient Temple

What was the production value of

minor minerals in the year 2012 - 13
in Chhattisgarh ?

(a) Rs. 33,495 Lakh

(b) 43,904 TG *. (b) Rs. 43,904 Lakh

(c) 27,897 ©1E %. (c) Rs. 27,897 Lakh

(d) 35,295 @@ ®. (d) Rs. 35,295 Lakh

(€) 30,2759 %. (e) Rs. 30,275 Lakh
Page No. 4 Set-B
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5. AR YRR 3 fohe 371 1 o | 7 5.

(a) e

(b) e

() Feht

(d) 7=

ey T

6. U WA 2007 F IER BTG 6

Y # Y[ S G 1 e 2
(934 =1 H)
(a) 31, T, Sasa, sR-awai
Y T, 3, s -arw i, doania
(c) Fuasfa, TR -aiE], T, &
(d) SRt e, A, T
(e) R -Thiti, suashia, T,

7. T8 TRORE SHEe Seia 3 T s A b

TR IR AR ?
(a) et
(b)
I
(d) e
(e) ueft

8. YATTE HIgel o Y Tewdi hl W Bieft & 8.

(a) Faq
(b) STl
CERL:

A0) wifenta
(e) gl

Nangmori is an ornament of which part
of the body ?

(@) Wrist

(b) Neck

(c) Finger

(d) Nose

(e) Arms

According to Cattle Census in

Chhattisgarh State correct order of no.
of Cattle is (in increasing order)

(@) Bull, Cow, Buffalo species, Goats
(b) Cow, Bull, Goats, Buffalo species
(c) Buffalo species, Goats, Cow, Bull
(d) Goats, Buffalo species, Bull, Cow
(e) Goats, Buffalo species, Cow, Bull

In which popular Chhattisgarhi

folksong, the name of Ganga appears
frequently ?

(@) Bhojali
(b) Jawara

(c) Sohar

(d) Sua

(e) Panthi

The chief of the female member of the
Youth dormitory Ghotul is
(a) Kewra

(b) Baliphool

(c) Belosa

(d) Motiyarin

(e) Turi
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9. A RNE 7 9. What is Lakhadi ?
(a) T HIel (a) A insect
(b) G (b) Number
v@/@ | (c) A Pulse
(d) =TE = (d) Lakh bangle
() 3% (e) Tree
10, T g A AR T 7 10. Lr;llv;i;:tl;dm?onth Goncha Festival is
() T (a) Jyestha
: v?d{ TG (b) Ashadh
(c) == () Shrawan
(d) s : (d) Bhadrapad
(e) STe (e) Agahan
11, o7d7 ot @i Fresm A o 7 11. Whose name called Ata Ali Khan ?
l\ (a) 3TgA B (a) Abul Fajal
(b) @7« Ssht (b) Abul Faiji
(c) Srsta (c) Todarmal
(d) @Trew @f (d) Adam Khan
_B) T T B (e) None of these
12. sl § g HIE R a9 § JH TR 12. Supreme Court of Kolkata started in
forg arfufem g o=l 718 ot 7 India in which Act introduced it ?
(a) foca sfean wwe (a) Pitts India Act
(b) 1909 =1 AfrfIH (b) 1909 Act
1 (c) 1919 =1 s1farfrm (c) 1919 Act
Az (d) 1858 @1 afufaH (d) 1858 Act
e FHAFETE | (e) None of these
13. yerfeat 9 8 13. Mahadeo mountains are the part of
a) TagEl (a) Satpura
(b) farea (b) Vindhya
(c) feert =M | (c) Western Ghat
(d) T | (d) Kaimur
(e) 378 T IS TR ' (€) None of these

CGP-14-01A Page No. 6 Set-B
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T S gr'rr’ ﬁ@w%? 3 14. “Jawahar Tunnel passes through which
I 2. 20 place ?
Maﬁm g “Q} M"J) () Pir Panjal
(©) ke y (b) Banihal
() Sfen | (c) Burjila
(6) T @ %1 7 (d) Jojila

(e) None of these
15. 9RT H 10 9RE WS ARF SHEET 916t

. . 15. Number of cities in India having
ﬁ -
L ? ﬁ(f, population 10 lac and above
50
7 @ 5 (a) 50
; (b) 60 (b) 60
(c) 100 (c) 100
(d) 80 (d) 80
\@/ﬁﬁ REIEET | (e) None of these
16. g & a9 2012‘13ﬂw337% 16. What was the area under all
FEET T ATEeT RheT o 7 Horticulture crops in Chhattisgarh in the
: year 2012—-13 ?
(8) 199 &R & (@) 199 thousand hectares
(b) 377 TR TR (b) 377 thousand hectares
‘)%539 TR TR (c) 689 thousand hectares
(d) 855 &SR 2™ . (d) 855 thousand hectares
(e) 585 TR §FW (e) 585 thousand hectares
17. U ST % TS & € O 2012 9% 17.  What was the total number of micro
SefoTe 1 Wﬁ&@@?ﬂﬁfﬁiﬁ and small industries set up in
[ ﬁ. o 7 Chhattisgarh upto March 2012 since
E - [ formation of new State ?
(a) 5856 (a) 5856
(b) 11027 (b) 11027
(c) 9426 (c) 9426
(d) 14314 : (d) 14314

{87 12035+ () 12035

CGP-14-01A Page No. 7 Set-B
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18. Tommaq et § fim Torml W oTefies &
wrrfyd forg g E |

1. Rerfirg
2. fawu

3. TFHRTHATET

4, st
Gﬁimgﬁn:
(a) 1,23 3
Y T 2

(c) 2w 4

(d) 21 3

(e) 1,2, 33 4

19. wHiETe & My Iam Hfifd 2012-17
T g TagH g TR § 7

(a) ﬁaﬁmmﬁ@-mm
T H 50%, 18 o it afer T

TV HPAH H g - 10 a9
Iafy 2g
) fgayerdge - 1099 7%

(d) ST o # g2 - G, 99, TS
TS T 100 % &2

(e) T Hafda st 3R &= fosra s i
Tarreht wfgfd, geft fee = atferera
150 % T 18 TINT b Afoehay

20. BAWE & HHY AEH Be WG & 7

(a) T w9TE iy
IgHTS GHTAT St

(c) TT&E T WY

(d) SPTEY 9918 9T

(e) 3T STt

18. Industrial Areas are established at
following places in Bilaspur District.

1. Sirgitti
2. Tifra
3. Chakkarbhata
4. Koni
Select the correct answer :
(@) 1,2and 3
(b) 1and 2
(c) 2and 4
(d) 2and 3
(e) 1,2,3and 4
19. Which provision is not correct in

Automotive Industrial Policy 2012 — 17
of Chhattisgarh ?

(a) Relief in Central Sales Tax— 50 %
of the prevalent rate at that time
upto 18 years

(b) Relief in Entry Tax Payment — for
the period of 10 years

(c) Relief in Electricity tariff — upto
10 years

(d) Relief in Registration charge —
100 % on land, building, shed

(e) Relief in VAT and Central
SalesTax 150 % maximum on
fixed capital investment, up to
maximum period of 18 years

20. Which writer is a Meteric Poet
(Chhand Shastri) from Chhattisgarh ?
(a) Baldev Prasad Mishra
(b) Padumlal Punnalal Bakshi
(c) Madhav Rao Sapre
(d) Jagannath Prasad Bhanu
(e) Thakur Chhedilal

CGP -14-01A
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21. W # =1 4§ 1 Terng A et
FATE ?
J(ay T e
(b) T e
(c) fesd o @1Tw Sfean
(d) FrsHT-3TmT
(e) =l @ s T

22. forva % e Tt & v a1 feemad 2013
o 97 off ? 2(;
(a) 1.8 yfcea
Y 1.7 Ffdera
(c) 1.9 gfawma
(d) 2.0 ufawa
(e) 0.7 yfawa

23. a¥ 2001 ¥ 2012 & =9 ¥ wra &
T g R Fwn R oan ?

(c) T
(d) =g

(e) T=m

24. ‘Tn-Mifaee’ % AR ®

(e

21.

22.

23.

24,

In India, which one among the following
formulates fiscal policy ?

(@) Ministry of Finance

(b) Finance Commission

(c) Reserve Bank of India

(d) Planning Commission

(e) None of these

What was the share of India in total
world’s exports in the year 2013 ?

(a) 1.8 percent

(b) 1.7 percent

(c) 1.9 percent

(d) 2.0 percent

(e) 0.7 percent

What was the rank of growth rate of
service sector of India in world during
the period 2001 to 2012 ?

(a) First
(b) Second
(c) Third
(d) Fourth
(e) Fifth

Who wrote ‘Rag-Govind’ ?

(a) Meerabai

(b) TR (b) Narahari
(0) =W (c) Surdas
(d) TwE™ (d) Raskhan
(e) 3 & i el (e) None of these
CGP - 14-01A Page No. 9 Set-B
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25, To= & & FF T T§ H g AH R 7
(a) o
(b) S=&=
(c) Tafx
(d) TeTET
Ja/sqﬁ } i
26. Pt fereies SRieE s ghfer i |

() 13 4 deier—ya) AT

(i) 18 a1

(iii) 39 a1 @

NEEEGIRRRERI
T

d) Tregatd, St
i 3R

TIHHEAT &
TS 1 A
&} & <11 gl
(b) (¢) (d)
(@ (i) (iv) @ (i)
(b) (iv) (i) ()R]
(c) (iii) (ii) @ (v
(i (iv) (i) (i)
\Me) (iy (iii)/ (i (iv)
07. dfaum & frAifrg # @ form e &

25. Which of these is an another name of
Buddha ?
(a) Parth
(b) Prachhanna
(c) Mihir
(d) Gudakesh
(e) None of these

26. Matich the following Constitutional
Amendments.

(i) 13" Amendment (a) Nagaland
(i) 18" Amendment (b) Anti-detection
law

(iii) 39" Amendment (c) Redefined
state

(iv) 52" Amendment (d) The election
of President,
Vice President,
Speaker and
Prime Minister
can not be
challenged

@ ® () (@
@ (i) (v) @ (i)
(b) (v) (i) (i) ()
(€ (i) (i) M (v
d @ (v) (@) (i)
(e) () (i) (i) ()

T T 1:]:3?;\@ T TST I91 FI 27. Indian Parliament has the power to
AR ? create a new State under which of the
following Constitutional Provisions ?
(a) =% 1 :
S 5 (a) Article 1
(b) Article 2
3 . (c) Article 3
(d) g% 4 (d) Article 4
() 3% 5 (e) Article 5
~ CGP-14-01A Page No. 10 Set-B
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28. i w1 # Tl % vl w1 gt
Hifvre ;

Ty gfafaferes
(i) ¥ RE(LL) (a) 48
(ii) TG 39 (b) 11
(i) mewrg L6 (o) 25
(v) s /1 (d) 42,

(v) afeem st 4 2-(e) 39

@ ® @© @ (@
@ O ) M ©
®) v (v i) @) i)
© @) v (i) 0 (v
) (i (v @) e (i
(@) (i) Gv) (i) (v ()

29. Tmffen & & e wsal it =i
fFa g 7
(i) wiEReg i Faf
(ii) Trerae =1 sl wfea ag SeETe
(iii) Toréraes =1 Qerer TET
(iv) &HT J&™ sl
(v) HgeF arferere i erfergemr s &
(vi) HHE I ey A
(vii) =maeftert <t frgfey

28. Match the representation of States in

Lok Sabha :
State Representation
(i) Andhra Pradesh (a) 48
(i) Tamil Nadu (b) 11
(iii) Maharashtra (c) 25
-(iv) Chhattisgarh (d) 42
(v) West Bengal (e) 39

@ @®m () @ (o)
@ @) i) (v) @ (i
B v (v) ) @O i)
© @) @v) (i) @) (v
@ (i) @v) @) (v (i
(@) (i) (v) () (v ()

29. Which of the following is the disc retionary

powers of President ?

() Appointment of Council of Ministers «,
(i) To return thé bill with objections «—
(iii) ‘I-'o detain the bill
(iv) To pardon
(v) To summon for joint session
(vi) To message the parliament

(vii) Appointment of judges »¢

@ O (i
® () )
© (i, (vi)
@ ) ()

ey (i (i

(iv)
(viiyye
(vii)
(vi)-
(Vi

@ @ (i) (v
®) (i) (W (vii)y
© (i) (vi)  (vi)n
@ gy (v (vi)v
€ () iy (i)

CGP-14-01A
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30. awifea weAl & s d adt e d ?
(i) I Hfew Resm v
(i) 3eR feifiga fou smma §
(ili) TF TA B ERI E
(iv) Tk T T OB S W @
(v) ST T §EY hl ST Hehl € w6
(vi) IR R efie =1 Fa= @ R
(@ () (v
wf‘ay (i
R\ (vi)
(d (i) V)
) (i) (i)

31. wEe § SO wEe il at # faum
Ty # gfemer JareE 9 ?
(a) He== Al
7 PHAR G-
(c) fowy < wm
(d) TSI FHR ST
(e) Torg 9

32, e ¥ Hferte af=Et 39 BFam &
e gofore hf ) - '

(i) T (a) 9H
(ii) 3THL AT (b) forsm =R
SRR
(iii) TTT HUTd (c) wdea

(iv) goHTEd aTe  (d) IREEd

(v) SH TR IS (e) ST HETEd
@ ® (( @ (@

@ @ (v) (i) (v) (i)

(b), (i) (v) (@) (v) (i)
i w0 Gy ()

d (v ) (i) (v) (i)

e (v) () (i) () (V)

30. What s correct about starred questions ?

(i) Answer is given oral

(i) Answer is given in written

(i) Supplementary questions can be
asked _

(iv) Supplementary questions can not
be asked

(v) May be discussed on answer

(vi) Speaker controls on answer

(a) (i) (iv)

(b) () (iii)

© (v (Vi)

d (i) (v

() () (v

31. Who was the opposition leader in
Legislative Assembly during the
Congress Govt. in Chhattisgarh ?

(a) Mahendra Karma
(b) Nand Kumar Sai
(c) Vishnu Dev Sai
(d) Raj Kumar Bhagat
(e) Ravindra Chaubey

32. Match the Cabinet Ministers with their
departments.

(i) Ajay Chandrakar (a) Labour

(i) Amar Agrawal (b) Science and
Technology

(i) Rajesh Munat  (c) Tourism

(iv) Brij Mohan

Agrawal (d) Transport
(v) Prem Prakash
Pandey (e) Water
Resources

@ @® (@© @ (e
@ O (v (@) (v (i)
) @) & @ (v ()
© @) 0O (@) (v
@ v 0O @) @) ()
e (v @O @@ @

CGP-14-01A
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33. frm=fcfaa § 8 fra & § grare S« g 33. Which of the following region does not
1 R A 2 7 have extent of Dharwar rocks ?
(a) Bhanupratapapur
a) AL
(@) (b) Dantewada
(b) <= (©) Kawardha
(c) e (d) Koriya
(d) i@ (e) Balrampur
q y \/@ AT 34. Churri-Udaipur hill extends
(a) Korba — Balrampur
34. gh-3gay vyeifedi =1 faman 2
al f (b) Korba — Raigarh
(a) R - TR (c) Balrampur — Surajpur
W - e (d) Bilaspur — Kawardha
(c) SEHMR - WY (e) Korba — Koriya
(0) foemaqt ~ e 35. Tributary of Shivnath river is
(e) T - Ffeen (a) Jamuniya
(b) Borai
35. gy 7 i veEs ? (c) Teswa
ﬁﬁm (d) Khorsi
(b) I3 (e) Kolhan
(c) Han 36. Which of the following pair (Tribal
e revolt in Chhattisgarh and its leader)
(d) is not correctly matched ?
(e) e (a) Paralkot
Revolt (1825) — Gendsingh
36. ﬁmﬁ-ﬁaﬁ@ma@(ﬁhﬂn@ﬁwﬁa@ (b) Tarapur
s wa e o) gafer @i & 7 | Revolt (1842) - Dalganjan
: ingh
(a) Weehle fasie (1825) - iefie Sing
. s (c) Meria
(b) TR oI (1842) - Zewivw fire Revolt (1842)  — Hidma Manjhi
(c) A ose (1842) - feew wish (d) Koi Revolt
: 1859 — Gopinath
Mﬁ'ﬁlﬁ (1859) - ™ L1558) 4
- ) (e) Bastar
(e) &R 9518 (1910) - TewK Revolt (1910) — Gundadhur
CGP-14-01A Page No. 13 Set-B
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37. el UST ArRaal § il i 37. What is the classification system of

e g 7

(a) 2EE]

(c) fem =ae

38.

39, TR H TR B w1 =t e frer 7 39.
(a) a9 1951 #
(b) =¥ 1956 ¥
(c) =% 1961 &

Ja(aﬁws?ﬁ

(e) =¥ 1971 #
40. femwr 2011 ® weiare ® frel A @
et oft 7
(a) 27
(b) 16
18
(d) 22
(e) 26

40.

Chhattisgarh State Civil Service ?

(a) Single system

(b) Two fold system

(c) Three fold system

(d) Four fold system

(e) Departmentwise separate system

Who is the Administrative Head of
Chhattisgarh Rural Development

~ Department ?

(a) Vikas Ayukta (Commissioner)

(b) Chief Executive Officer

(c) Deputy Development Commissioner
(d) Chief Secretary

(e) Additional Secretary -

In which year Raipur got a status of
Municipal Corporation ?

(@) Inyear 1951

(b) Inyear 1956

(c) Inyear 1961

(d) Inyear 1967

(e) Inyear 1971

In December 2011, what was the
number of district in Chhattisgarh ?

(a) 27
(b) 16
(c) 18
(d) 22
(e) 26

CGP-14-01A Page No. 14
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4. g - 1 (e S & UsE) @6 41. Match List — 1 (Dynasties of ancient
et - 2 () | gﬁﬁazﬁﬁi‘f | Chhattisgarh) with List ~ 2 (Rulers)
geit - 1 Tt - 2 List -1 List-2
(@) 7= (1) d=a (a) Nala (1) Tivgrdeva
(b) TReThY (2) Rer (b) Sharabhpuriya (2) Shivagupta
(©) umg (3) wheami (z) :andu (2) 2ki::avan-fna
. oma ukhdevra
(d) @™ (4) G@Et (@ (4) J
B d) (@ (@® (c) (d)
E)wE - S L b 3 4 1 2
(b) 3 4 1 2 © 2 i 3 3
€18 . Fophelise® @ 5. © - 2. .4
(d) 3 1 24 © 4 3 3 5
ng)-/zx 3 A 2
42. Which of the following branch of
42. g tsew i Fefofaa 3 € frg s Kalchuri dynasty established its
Y ohiaTe 3 TeinE H?n orfia = ? political power in Chhattisgarh ?
: (a) Lahuri :
m (b) Behuri
(b) & (©) Tripuri
(c) Byl (d) Kalinga
(d) =Hfem (e) Sharabhpuriya
(g) TR 43. Which of the following statement is true
] A about the Maratha administration in
43. eI H HUST SIEH < Heiy i frferfaa Chhattisgarh ?
A 8 P HH T § 7 (@) Marathas  continued the
(a) U3 4 el i vt sgae administrative system of Kalchuris
T S T (b) Marathas had administrative
(b) TTE! 1 BHETE F WEH] &5 W control over the Khalsa region of
eaEr TR o Chhattisgarh
ot VTSI 1 SE g el Sel (c) Marathas introduced the decennial
© B A = S settlement of land revenue
N o (d) Marathas handed over the
(@ .ﬁ e I FRigit administration of Chhattisgarh to
TSI 261 i e Kalchuri Kings
(e) st 3 Befterrg & SRRt ST (e) Marathas introduced ljaradari
R system in Chhattisgarh
CGP-14-01A Page No. 15 Set-B
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44, Treffea # @ fee oy sdETe S
T ST TSI GSTT S T ¢

(a) 1861
oo
(c) 1863
(d) 1864
(e) 1865

45 Prefifaa i @ feew 1920 3 .o .o

44. In which of the following year
Chhattisgarh was made administrative
division of the central province ?

(a) 1861
(b) 1862
(c) 1863
(d) 1864
(e) 1865

45. Who of the following led the historic

3 et o A
e e 7 i strike of workers of B.N.C. Mill,
_ ' Rajnandgaon in 1920 ?
(2) . e T (a) Pt. Sundarlal Sharma
\ Bl e e (b) Thakur Pyarelal Singh
(c) SRR et (c) Krantikumar Bharatiya
(d) SR S (d) Barrister Chhedilal
(e) FITEH (e) Qutubuddin
46. o e = T 7 46. Which is not gaseous cycle ?
(@ N (@) Ny
(c) (c) Carbon
H, (d) Hy
(e) 37 T FE T (e) None of these
47. S Sfag SRR ? 47. Which is not fossil fuel ?
(a) (a) /Coal
) A Vet{) Wood
(c) o= (c) Diesel
(d) ¥ (d) Petrol
() 7§ FE T (e) None of these

CGP-14-01A
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48. TorEer TETUEE S99 & €9 H WA = 48. Which is not used as Atomic fuel ?
B E 7 (@) Uranium
(a) T (b) Thorium
(b) enfam (c) Plutonium
Wﬂ“ (d) Lead
e (e) None of these
(e) ¥ & FE T £ . ,
49. Which is used in Dry Washing ?
49. Y YT § ToREeHT SN SIS 7 (a) Petrol
(a) WA (b) Benzene
(b) s (c) Alcohol
- (c) AR (d) All the above
b(d‘)‘ﬁ:ﬁl a4t (e) None of these
(e) ¥ 3 =K 50. Which one is responsible for Ozone
50. ST fz & QA Serh 2 7 holes 7
(a) CO, Ez; :82
(b) SO, © O, 2
(e
(d) CFC
wifg;c; 2 (e) None of these
51. A solution turns red litmus blue. The pH
51, U Faems we fenm = e =3 R, of solution is '
forerm =1 pH ® @ 7
(@) 7 (b) 1
(b) 1 © 5
(c) 5 (d) 6.5
(d) 65 (e) None of the above
T g &g A8l )
52. The human eye forms the image of an
52. T i o1 foet areg o wfeierat st ® object at its
(@) hriaT W (a) Cornea
(o) smafE = (b) lris
(c) et W (c) Pupil
V(d)’ﬁ/ﬁ = (d) Retina
(e) Sw=d T Q FiE T8 (e) None of the above
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53. T 4 @ e dy g SR (< S ) 53,
27
(a) sfer
(b) erERIfFEA
(c) A
et
(e) 37w § F IS e

. 54, e Rrep EeE B AT FR EE TS | O
I TR B -
(a) forrwr R

dR
( R
(d) WISt AR
() 30 T | 1g Fel

55. S & fe i wFa sy o & 7
(a) 3ail ®: firm w@ ©: U 9y B &
(b) 3E aE frmT Td &: UK @Y Ed §

A 5 e o e g 9 8
(d) zai : R o o o sy g 2
(e) S # & g el

55.

56. 9RA % WaEE % w9 9§ off W 9 A

U 56.
ﬂuﬁ 2014 &l

(b) 125 2014 =1
(c) 29 & 2014 =
(d) 15 2014 =1
(e) =¥ & =E e

Which of the following is a plant
hormone ?

(@) Insulin
(b) Thyroxin
(c) Oestrogen
(d) Cytokinin

(e) None of the above

A wire with black insulation during
electric supply is

(2) Live wire

(b) Earth wire

(c) Neutral wire

(d) Fuse wire

(e) None of the above

For benzene which of the following
statement is true ?

(a) It has six sigma and six pi bonds
(b) Ithas twelve sigma and six pi bonds

(c) It has twelve sigma and three
pi bonds

(d) It has six sigma and three pi bonds

(e) None of the above

Sri Narendra Modi took oath as Prime
Minister of India on

(a) 26th May 2014
(b) 12th June 2014
(c) 29" May 2014
(d) 15" June 2014
(e) None of these

CGP-14-01A Page No. 18
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57. ‘GUMEE -4 AreET S i T 57. “Pradhan Mantri Jan-Dhan Yojana”

(a) 25 31T 2014 # was started on

(b) 26 3T 2014 # (a) 25! August 2014

(©) 27 2014 # (b) 26™ August 2014
%@TYZ 2014 # (c) 27t August 2014

(e) T & ¢ e (d) 28" August 2014

(e) None of these

58. 102 af wRd™ fage S0a F1 AFSH

3 Y 7 Sedt 2015 g3 oAl 58. 102t Indian Science Congress
(a) TIFR sepe & (3 — 7 Jan. 2015) was organised at
(b) BARC T&% # | (a) TIFR Bengaluru
(c) NT feeehi & (b) BARC Mumbai

Frvafrerer, Tt 6 (c) IT Delhi
(e) 398 T &IE & (d) University of Mumbai, Mumbai

(e) None of these
59. WASHI-STRN % TE W Hfa-mim’
59. ‘NITI-Aayog’ has been formed replacing

| . 3
j , Planning Commission on
1 SHel 2015

(a) Jan. 1, 2015
(b) 5 SHadl 2015 & '
o (b) Jan. 5, 2015
(€) 260 5 (c) Jan. 26, 2015
(d) 31 5=t 2015 = (d) Jan. 31,2015
(e) ¥ & =3 e -

(e) None of these

60. 2014 %1 il F1 9T R o 60. Nobel Prize for Physics for the year

aTfersR o forg frem ¢ 2014 was given to which invention ?
(a) @t LED & forg LN (a) Red LED
(b) ¥ LED ¥ forg %\y" (b) Green LED
(c) % LED & fog (c) White LED
(d) sk LED & fog (d) Yellow LED
T @ S T (e) None of these
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61. W2 T
ST FHT
b) SGieEd HI
(c) Headd FIAE &
(d) AEEER

CEeEEIER

B2. Ied &I oh HEATIH B
(b) TSI
(c) weaTER
(d) HRTeH <
(e) 8 ¥ &3 7a

63. =l ke ¥ HetHd IES gad Hoid: 940
W
(a) HAYdda
(b) wTaE
l/(zfﬁaa
(d) wEfa
e) ¥ ¥ &g T

64 ﬁ:mnasﬁsﬁ%&rmé:%ﬁm%?
(a) HTTRTT

61. Hadis is

(a) Islamic Law

(b) Settlement Law

(c) Tax of Sultanate period
(d) Mansabdar

(e) None of these

62. The Founder of Adwait Philosophy is
(a) Shankaracharya
(b) Ramanujacharya
(c) Madhvacharya
(d) Mahatma Buddha
(e) None of these
63. The ‘Purush Sukia’ related to Varna
System is originally found in
(a) Atharvaved Y
(b) Samaved
(c) Rigved
(d) Manusmriti

(e) None of these

'64. ‘Kishan Garh’ school is famous for

(@) Temple Art

\)Y%Wﬂ (b) Painting
c) I dreft (¢) Martial Arts
(d) Hfdehett (d) Sculpture
(e) 37 @ =% Tl (e) None of these
TCGP-14-01A
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65. or@ ¥ o w1 W g fres w1 A
R i 2 7

(a) gt

(b) e
ey Taferty e

- (d) IrmafE

(e) S H & g T
66. ‘v w3 T A 7

(a) SIS 9HTE

Mmm
(c) HeER yER faad
(d) . TR
ORCEREE:

67. wuETe H gl fha BN & weg g 7
(a) @@
(b)
ElitEa]
(d) afims
(e) Iy

68. IWAEMI-aren o et & g & gy
27

ot e - ot

65. The change of focal length of an eye
lense is caused by action of the

(a) Pupil
(b) Retina
(c) Ciliary muscles
(d) Iris
(e) None of the above

66. Who is the author of ‘Shyama
Swapna’ ?
(a) Jaishankar Prasad
(b) Thakur Jagmohan Singh
(c) Mahavir Prasad Dwivedi
(d) Dr. Heeralal
(e) Madhav Rao Sapre

67. Turturiya is associated with which Rishi
(Ascentic) in Chhattisgarh ?
(a) Lomash
(b) Vishwamitra
(c) Valmiki
(d) Vashistha
(e) Agastya

68. Amerikapa-Tala is nearthe confluence
point of which rivers ?

(a) Shivnath — Maniyari

(b) fererme 7 (b) Shivnath — Arapa

(c) TR - WER () Shivnath — Mahanadi

(d) sherr - fRrerm (d) Leelagar — Shivnath

(e) WEHST ~ T (e) Mahanadi — Arapa
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69. TmrEel fi # & forad gl 8 7
(a) Ga™ 9
(i
(c) 4T 9y
(d) 9= T

(e) ITE A

70. W Tia Ry SrEet oX T San @ 7
(@) 5=
(b) T
(o) et ek

oy

(e) TFuEd

71. 9 AT R 39 HEET % WY gaTed
ST |

(a) 1999-2004

(b) 1989-90

@ ® @© @ @
@ O @ () v
) v @ G @) 0
© @ O M © W

Mi) W/ o W

(€ @) @ (i) v W)/

69. Damakheda is associated with which
from the following ?

(a) Satnam Panth
(b) Kabir Panth

(c) Tera Panth

(d) Ruined Temple

(e) Excavation site

70. Bhadauni songs are sung on which
occasion ?

(@) Birth

(b) Death

(c) Harvesting
(d) Marriage

| (e) Thread ceremony

71. Match the Prime Ministers with their
tenure,

(i) Devegouda (a) 1999-2004
(i) Chandrashekhar (b) 1989 —-90
(iii) Atal Bihari Bajpayee (¢) 1990 — 91
(iv) Indra Kumar Guijral (d) 1996 — 97
(v) Vishwanath Pratap (e) 1997 — 98
- Singh
@ @® () d (e
@ @ @) @iy @v) (v
() (v (v) (i) () ()
(© (i) . @) () () (v)
@ (i) v ) @ (v
e (@) (@) (@) () (v)

CGP-14-01A
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72. a¥ 2012-13 H 9N 6l Hehel Bl d9d &
off
\,(»a)/ 30.1 wfcmTd et B 37918 1
(b) 25.8 Wi Tkt S I H
(c) 22.3 gl Hehel SR IS
(d) 34.6 Tfierd Thd He] S¢S
(e) =78 ¥ = 7

73. ¥ 2012 Rd % HHa o g H
T o1
(a) 0.387
(b) 0.454
(c) 0.416
0.554
(€) 37 & w13 7

74. freferfiaa # @ e P ol srfsa
TR 7 |
(a) AR THA 3.
(b) TR S,
(C) TH.IIRZH.

(Y T STRA,

(e) 78 ¥ 13 Tl

75. WRd § Hehed BE 3UE 98 2012-13 &
4.5 wiowrd 1 go | a9 2013-14 #
4.7 giasrd de et foreeht wor o

(a) TaT & i I= g &

(b) Fmfo &5 1 3=a glg =
/(o) Fh e e g R s g
e set 2

(€) ¥ & =IS el

72. In the year 2012-13, the Gross
Domestic Saving Rate was
(a) 30.1 percent of GDP
(b) 25.8 percent of GDP .
(c) 22.3 percent of GDP
(d) 34.6 percent of GDP
(e) None of these

73. Intheyear2012, Human Development
Index value of India was

(a) 0.387
(b) 0.454
(c) 0.416
(d) 0.554
(e) None of these

74. Which of the following is not a anti-poverty
program ?
(a) R.L.EE.G.P.
(b) L.R.D.P.
(c) N.R.E.P.
(d) M.R.T.P.
(e) None of these

75. During 2013-14, India’s Gross
~ Domestic Product grew to 4.7 percent
as compared to 4.5 percent in 2012-13.
This was due to '
(a) High growth rate in service sector

(b) High growth rate in construction
sector

(c) High growth rate in agriculture and
allied sectors

(d) Allthe above are correct

(e) None of these

CGP-14-01A

Page No. 23 ' Set-B



AR A0

76. Tefcifga woHl § 9 a1 w9 (3R 3
) HE ¥ gt ot i R R 7

() oy, o, R, e

afsm, RRQ, 9o, Redmmmeo
(c) Tratmmrmw, yad, farg, ufsm
(d) gy, ufcm, i, FredammEo
(e) ufsm, forgy, Radtammw, gamd

77. Tomfcfad syl W farem il |
C 1. e ¥ vum it gas Y e
1965 # &5 |
2. o R 3 o6t fior 1966 # g |

3. WA H. & fogy wa9 wien @
oo et 8 2

4. G Tegiifaam s fafiee aen
il T 1975 ® 1 )

e IW IR

@ 1,2, 4582

(b) Fae 1 T 3T R

(c) %ot 2T 4 Wl B
1,2, 35 ?

(e) %ad 1 wd 4|t §

78. foehHT aienfier foee s @ @

76. In the following places which series
(South to North) of areas located near

Mahanandi ?

(a) Sirpur, Rajim, Shivrinarayan,
Palari

(b) Rajim, Sirpur, Palari,
Shivrinarayan

(c) Shivrinarayan, Palari, Sirpur,
Rajim

(d) Sirpur, Rajim, Palari,
Shivrinarayan

(e) Rajim, Sirpur, Shivrinarayan,
Palari

77. Think about the following statement.

1. First cement factory in
Chhattisgarh was established in
1965.

2. Construction of wagon repair shop
occurred in 1966.

3. Thermal plant of N.T.P.C. are in
Korba and Bilaspur Districts.

4, Bharat Aluminium Company
Limited Balco established in 1975.

Select the correct answer :
(a) 1,2, 4 are correct

(b) Only 1 and 3 are correct
(c) Only 2 and 4 are correct
(d) 1,2, 3 are correct

(e) Only 1 and 4 are correct

78. Birkoni Industrial Development Centre

(a) g1 is located in

(b) Faef (a) Durg
(b) Kawardha

(€) TR :
(c) Raipur

(d) (d) Baloda Bazar

HERIg-< (e) Mahasamund
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79. frfeifad # @ frw St & =@ weom =
ERicERCIPE

(a) e
(b) g
(c) TR
(d) weg=
Wa‘ﬁm
80. @5 2010-11 ¥ 9Rd TR TN BATTE

%! o 3uafel & fore ‘i oy qoemr?
| g fome w7

(a) 31eT @ F Fo1e A Tl
(b) 3=a S fFwm

ﬁﬁwﬁ%mmm
Y 1 {1E Icqmeq

(d) =+ft @ wE A IeuTemal gy
(e) Y =1 s1feres wrerfehan &

81. SIt oA d gam € ?
(a) A=
(b) dwmE

[ o wem
b M
(e) T8

82. . WY =g Nl e v & fgm 9 7

79. Which of the following District has more
production of lime stone ?

(a) Bilaspur

(b) Durg

(c) Raipur

(d) Mahasamund
(e) Baloda Bazar

80. What was the achievement of
Chhattisgarh that honoured by
“Krishi Karman” prize by Govt. of India
in the year 2010 — 11 ?

(a) Presentation of separate annual
budget for Agriculture
(b) High Agriculture growth rate

(c) Record production of paddy by
successful implement‘ation of
agricultural schemes

(d) Increase in productivity of all crops

(e) More priority given to agriculture

81. Jethauniis celebrated in which month ?
(a) Magh
(b) Baishakh
(c) Falgun
(d) Kartik
(e) Agahan

82. Dr. Ramesh Chandra Mehrotra was a
scholar of which subject ?

) i o C (a) Biology
o1 o D 5 (b) Linguistics
© f=t M (c) Hindi
(d) TERA fogm (d) Chemistry
(e) &9 (e) Philosophy
CGP-14-01A Page No. 25 Set-B



AT A

83. W=3 VNG ARHH ¥ SHEg % T
YA TRE TR ?
(a) sy i
(b) vl e’
(c) gt i <
A e
() 390 ¥ #1g I

84. TmFw TEM fSdehM= oY TRER
T 3
(a) @ FEEIHR
Wt A=
(c) @i THH=
(d) @™l FTEvEH<
(e) @t SATfaEaT=
85. 2011 =i SFUFAT % R e e
TR X 3T & 7
(a) TSHTTE
(b) TRIGL
e
(d) wwadt

(e) wETHgs
86. . Sfeca s ‘HelvTRE’ o FTHR HRishTelH =™

83. Whom of the below mentioned is not
included among the Navaratna of
Chhattisgarh in Clean India
Compaigne 7
(a) Babhruwahan Singh
(b) Harish Kedia

(c) Anuj Sharma
(d) Jaidev Baghel
(e) None of these

84. Who is the founder of Ramkrishna
Mission Vivekanand Ashram,
Narayanpur ?

(a) Swami Satyarupanand
(b) Swami Atmanand

(c) Swami Ramanand

(d) Swami Akhandanand

(e) Swami Jyotirupanand

85. According to Census 2011, in which
district literacy rate is more ?

(a) Rajnandgaon
(b) Raipur

(c) Durg

(d) Dhamtari

(e) Mahasamund

86. According to the ‘Arthashastra’ of
Koutilya the following courts existed in
the judicial system of Mouryan Age

paeen # Frfafa = st € 9 | 1) Dharmamahamatra
1) gHAEHTE 2) wwef 2) Dharmasthiya
3) ™% 4) S 3) Rajjuka
4) Kantakshodhana
T IR G
. Select the correct answer :
(@ 1wW?2
: (@) tand 2
(b) 2QET3 (b) 2and 3
() 1@ 3 (c) 1and 3
2T 4 (d) 2and 4
(e) 11d 4 () 1and 4
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87. wEHH UST &t yuy ey Frefafea 8 &
F ) off ?
(a) et

(d) a*ta?ﬂena
(d) ga =T
(e) 37 & s =&

88. it —1 (1857 % forca 3 1ieh) i geft — 2
(37 wEE) & gafora FifvT |
Tt -1 el - 2
a) & @ 1) 313y
b) Wt sEHgeET  2) WA
c) HatiaE 3) m
d) THEEY 4) feeett

a b
(@ 38 1
(b) 2
&gé(j 1
(d-4 3
e) 52 " &

W NN - o

89. siet fareTrei 3 fog TR 3 R
FiEH I

87. Which of the following was the first
capital of the Bahamani Kingdom 2

(a) Bidar

(b) Gulbarga

(c) Daulatabad
(d) Husainabad
(e) None of these

88. Match List —1 (leaders of the revolt of
1857) with List — 2 (their areas of-

operation)
List -1 List -2
a) Bakht Khan 1) Awadh
b) Maulvi 2) Kanpur
Ahmadulla
¢) Kunwar Singh 3) Arrah
d) Nanasahab 4) Delhi
a b ¢ d
@3 41 2 "4
Dy-a & g
© & 1 =88
d 4 3 1 2
(&) 2> 4 4 3

89. The following programmes were
launched by the nationalist against the
partition of Bengal

1) Boycott
1) SR 2) e 2) Swadeshi
3) arHEA 4) I e 3) Non-co-operation
4) National education
el ; : Select the correct answer -
@ 1'2@,[3 (@) 1,2and 3
() 2 3% 4 (b) 2,3and 4
(c) 1,3 4 (c) 1,3and 4
A 1, 2 4 (d) 1,2and 4
(e) 378 ¥ =18 &t (e) None of these
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90. g <iel TSI 3 ST AT IR i off ? 90.
(a) TRIFS 91
ORUEEIS

q ‘}Q/TIGTIG{M

. (d) ToRe T
(e) 3 ¥ +7§ &

o1. T o @ FET SN Tl § Ued | ° 1.
(a) T
-~ (b) AHH
o7 ke
(d) awh!
(e) et

‘92, farmd J1gg 39 W BTG & g Ui 92.
TR (A 2015) TaH w5 § S forn 7

(a) <. T 8

(b) TR e
(AC) T PAR

(d) orm i

(e) et TR

03. et & o ¥ e (i) & R | 9%
farega AwWe?

WJA) T 160 FTETE
(L (b) TR 260 HETRE
| (c) TR 290 TEE

(d) ST 360 HTETR
(e) @M 390 HTER

In which Cholas king started Naval
Army ?

(a) Rajendra Chola
(b) Prantak Chola
(c) Rajaraja |

(d) Rajaraja ll

(e) None of these

Which one from the following
ormament is worn in neck ?

(a) Aiethi

(b) Nangmori
(c) Sutiya
(d) Tarki

(e) Kardhani

Who received National Award
(Feb. 2015) from Prime Minister on
renewable energy ?

(a) Dr. Raman Singh
(b) Subodh Kumar Singh

- (c) Aman Kumar

(d) Ajay Singh
(e) Sunil Kumar
In Chhattisgarh from paddy husk

(Biomass) how much electricity is
produced ?

(a) Approximate 160 megawatt
(b) Approximate 260 megawatt
(c) Approximate 290 megawatt
(d) Approximate 360 megawatt
(e) Approximate 390 megawatt
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94. wHETe H T @ § e T
faRl i S e afie fisch go
A ?

(a) 30 e
(b) 35 e
(ot
(d) 45 e
(e) 42 e

95. 2001-2011 % 7afy d form et &
SHEE g [ wE @ ?

(a) &Sl
(b) AR
(c) e
(d) it

\‘}eyﬁfw

96. WA 4 fhaa ot € 7
(a) 600
(b) 650
(c) 580
(d) 800
] Fr T8

97. WRA ¥ WoH JfRTR Sl LYH i T

94. How much unit electricity are given free
of cost to families living under Below
Poverty Line in Chhattisgarh ?

(a) 30 Units
(b) 35 Units
(c) 40 Units
(d) 45 Unifs
(e) 42 Units
95. During time duration 2001 — 2011

which district has less population
growth rate 7

(a) Dantewada
(b) Narayanpur
(c) Bastar
(d) Kanker
(e) Koriya

96. How many districts are in India ?
(a) 600
(b) 650
(c) 580
(d) 800
(e) None of these

97. In which place first Nuclear Power

FE TS 7 Station has been established in India 7
(a) HeTdFFRH (a) Kalpakkam
(b) =T (b) Kota
\}z{ TG (c) Tarapur
(d) TR (d) Narora
(e) T U IS T8 (e) None of these
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98, WRA H Ui ¥ Faw 1 NG I I8
2013-14 # o

sz/gmgm T
(b) 3059 ferell T
(c) 2602 frert g
(d) 770 ferett |
(e) T | =S &

99. e wty fie=ms % g Ei 7 ?
_(a) R
frerergsm
() FORTS AR
(d) “TTeRgT FTe

(e) T8 @ TS e

100. T foum o & T A adtw=m @ 7
(i) TR FEFE 6T e~
(ii) 7€ T T WA B
(iii) 78 o 7t o 1 Wepa
(iv) Y/, e T geanedi g faifea
3’!%%(1/57 ‘
(v) Y/, T T wa R e B ¥ X
(vi)srﬁ:iéﬁaﬁm%s 1, we= ST
CECE
(vii) 39 TIUTS Te T AR BT ® ¥
(viii) THeh TEwIT o1 HRIBIA 6 I8 BT &

@ o i) G w-

(b) (i, (i)~ (vii)  (viii),”
l/f‘é) (i (i), (vi), (viii) -

@ (i) (yﬁ, (vi)  (viii)

@ 0 ) o i)

98. InIndia, per hectare average production

of rice intfie year 2013-14 was
2419 kgs

(b) 3059 kgs

(c) 2602 kgs

(d) 770 kgs

(e) None of these

99. Which dam is not for irrigation ?
(a) Bhavani Sagar
(b) Shivsamudram
(c) Krishnaraj Sagar
(d) Bhakra Nangal
(e) None of these ‘

100. What is correct about State Legislative
Council ?

(i) tstenure is 6 years
(i) Itis a permanent house
(iii) 1t can not be dissolved

(iv) 1/6 members are elected by local
institutions

(v) 1/6 members are elected by
legislative assembly

(vi) On each two years 1/3 members
are retired

(vii) Deputy Governor is the Chairman
of House

(viii) The tenure of its members is 6
years

@@ O (i) (@)

(b) (i)  (vi)  (vii) (viii)
© (i) (i)  (vi) (viii
(d) (i) v) (vi)  (viii)

€ O (i) (v) (vi)
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1. Ffafaa 2o ,\:\@
- >
10,7:6,8,5,4,7,7
7 3 fogqe W' (? 2) e §
(@) 3TuT 6
_(b) 637 3
(c) 6aur 2
(d) 3 2

() I & 13 e

2. Trafafad sige-avf & foge wm (7) ©
Freferfaa & & e s1gr e 2
X Fr2 0 H: D

(a) M
(b) N
(©) O
@ Q
~(6) ¥ | 5 T
3. Fm=fafen wemedl 587, 875, 695, 767,

867 1 & e, et fam & ot o=
TR @ 3 ?

X2~ 2 £3

3 - 42 -3 4]

O The two missing terms ('? ?) in the
~ following series

10, 7, 6 8, 5, 4, ?, ? are respectively
(a) 3and 6
/Gbif ér;a 3
(c) 6and 2
(d) 3and 2

(e) None of these

2. Which of the following letters will
appear in the missing place (?) in the
following letter series ?

X, 1,2, L;H.D
i

(@ M
(b) | N
© 0
@ Q

_,.,ga)"'ﬁlzone of these

—

(3.) Which one of the following numbers

587, 875, 6895, 767, 867 is different from
the other numbers, in accordance with

some rule ?
(a) 695 695
(b} 767 (b) 767
(c) 867 (c) 867
(d) 875 (d) 875
(e) 98 & w18 el (e) None of these
CGP-14-02 * Page No. 4 Set-A



; . 1{&\%
4, é@g%\ﬁm%f@aaaaﬁ(&_s,jg,m),
(11,19,2,3), (5,29, 2,13), (2, 31, 11, 4)

F | w7 v (@R B 2 ), R
Frem % sranfa, o= Tl @ e & 2

(@) (3,5, 19, 13)
(b) (11,19, 2, 3)
(©) (3,29,2,13)
<) (2,31, 11, 4)
I(e) T @ B 7

5. ﬁw%%aﬁmwﬁa(?)%wmw
HIE! e s 2

7 4
25
1
(a) 26
(b) 33
(c) 35
“(d) 36

(e) 3 @ =wr$ 7

6. 1am130%aﬁaﬁi¥ﬁﬁwaﬁﬁﬁw,
ST 68 ffr gt & (AES I) qoT
ﬁqﬁﬁamaﬁwmqt‘s’aﬂaﬁm%,%

(a) 5

s+
.I’-r

@ Which one geﬁ of the following gets of
—__numbers (3, 5, 19, 13), (11,°19, 2, 3),

2., —13,29,2,13),(2,31, 11, 4) is different (if

any) from the other sets, in accordance
with some rule ? oM

ey (3,5,19,13)
(b) (11,19,2, 3)
(©) (3,29,2, 13)
+d) (2,31,11,4)

(e) None of these

. '
5. -\What is the number in place of question

\——mark (?) in the following ?

(e) None of these

6. The number of numbers between 1 and
130 which are divisible by 6 with zero
remainder and which consist of the digit

(6’ in any place is

(a) 5
(b) 7 54
(c) 8 © 8
(d) 16 @16
(e) 8 @ =¥ 7 Je}ﬂgne of these
CGP - 1402 +

gr / 3'6"/ él’fj /e '6.‘(;/}_\/ y 2) [2
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7. @1, 2 3 3Q STS STRaTel 3 3] I 7. The sum of all the 3 digit numbers
. S which are formed by the digits 1, 2 and
S wfl wene, fr st A STRE N 3 without repetition of digits is
B, A )
. 11} (a) 1233
(a) 1233 13 &, (b) 1321
b) 1321 “ Q-
(b) i 2/ (c) 1323
(c) 1323 3] 2 /(dﬁééé'
(d) 1332 2 : L (e) None of these
(e) 378 & =13 e "Jrf;'} 2.
e 8. Atthe end of a meeting, all the persons
8. frelt i ¥ o . o 39 =R present shook hands with each other
) " 4 ~once. The total number of ‘handshakes’
T ¥ T AR g Fred €1 et 15 4R is 15. Number of persons present in the
1 fiene | S A 3ufen sfEEt f meeting is
e § @ 5 ‘
5 _..f""f.-.
P L © 7
" 5
ek s (@ 8
@ 8 bt
«e) None of these
(e) ¥ & = T
9. From the digits 0, 1, 2 upto 1 g,_ the
9. 0,1, 2@1gama;31ﬁ(g=@-;3ﬁ)ﬁa,@ number of digit(s) whose mirror
sich /i v/ Roert 33 i i e image(s) is (are) same as the original
sih /S ALY cigh(s) is.
(a) 0 - (@) O
\
(b) 1 4 19 (b) 1
@2 } @z
@ 3 AT
(e) T & 1S 7 (e) None of these
CGP-14-02 * Page No. 6 Set-A
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10. F=fafen den §, frg 3% I TR
el AR EE R 2
87564256822
(@) 5
(b) 6
(c) 8
(@ 2
(e) T & %X 7
1. 1239 6 @ smer = (=g 6 ey,

<Ner 4 31ex) % Enft R R, 1.5 et e
iR T o Forer Ram | =

& S G O g R e e
ﬁmw%rmmwm(ﬂqﬁaﬁ)é
@ 95 |
(b) o
@43 ¢

/
@ 12
(e) T @ #K et

12. 7@7@107%@%&1%%1%

10.  In the following number, which digit is
repeated once in the very beginning ?
87564255822 |

s
_Aars

(b) 6

(c) 8

(d) 2

(e) None of these

11. Froma rectangular sheet of tin (length
6 meter, breadth 4 meter), a square of
side 1.5 meter is cut from all the corners
of the sheet. The remaining portion of

- the sheet is folded into the shape of an

open box. The volume of the box in
cubic meters is

@ 95

(b) 9

s

135
(d) e

(e) None of these

¥ 3 I S o 3 12. 7is multiplied by 7, 107 times. The digit
(a) 1 in the unit’s place in the product is
“ow® | W
(© 7 w i B
.:f;;/”,‘. © 7 _
ﬁ\\ (d) 9 7'_:':;;_
! T8
(e) 399 | F1 7 *(e) None of these
CGP - 14— 02 —~ Page No. 7 - bIy
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4 “1'.
“®
13. ARA 4°x 9% x 77 H AT PEEUE
1 F gt &

(o 3
(b) 20
(c) 15
(d) 11
e) 3T | s el

14. < sfad foredt 7ol ¥ oo g x o gu
HTd 8 | I9eh! =TeT ShAS: 2 To6 1., 3 foh it
T 4 fr . wft wver 3 ) R siea AT
(.1t ufq =wa) 2

@ 23

:
(d) 33
(e) 0 W 13 el

15.  (4764)1795 % 53 sy o ST S | TR B

) w8 T
2_5/( 3% %7

[/O .\ The total number of prime factors in the

\"‘--_.

product 4%x 9% %77 is
T () 20

() 15
Ad) 11

(e) None of these

14. Three persons walk some distance’g:?
along a street at the speed of 2 km.,
3 km. and 4 km. per hour. Their average
speed is (in km. per hour)

A
(d) 35

—e) None of these

15/, (4764)1795 s divided by 5. The
remainder is
(a) 1
. a) 1
o (a)
(b) 2
SR © 3
(d) 4 /(d»,/;
e) 3 ¥ =TE 7 (e) None of these
CGP-14-02* Page No. 8 Set-A
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(9 e
| 9w f’rb_
e ~ 8777

16. waﬁ'@ﬁm%ﬂ@BtﬂFﬁﬂ%%lsﬁﬁﬁ
Q%ﬁwﬁa‘rﬁémﬁaﬂaﬁﬁﬁiﬁﬁﬁw
Gl 8 ?

(@) 73
(b) 36
(c) 28
(d) 54
(e) T & ¢ &

= guife @ o # et ol § 7 w11 g
sfcrere U spTer W e S7ehi e ST e R
161
151
141
131
12
"
!.
09
08 1

0.7
06 1
05 -

04-
03 4
02
0.1

0

BE 2 3 45
T HEIN 17 § 21 9% safahla fe w smfa
B | 5 T &% It AR |

17. @ Fra®f e ¥ Rl e <1 o

-

16. A box contains 10 green and 8 yellow
balls. In how many ways, two balls of
the same-colour can be drawn ?

) 73
(b) 36
(c) 28
(d) 54
(e) None of these

The following figure shows the ratio of marks
of History and Geography of 7 students inan
examination.

16 1
15
14
13 1
12
111
1 R
09
08

9 071
061 ~
- 0.5 - -\l\:\ / LY
| IS
04 _ “ﬁ“ J;,/
03 1 . ) s

02

0.1

0 . ; : . T r ¥

Student 1 2 3 4 5 6 7

The question numbers 17 to 21 are based on

the above shown figure. Answer these
questions.

17.  How many students got more marks in

sftere § sfirn oieh i U E 2 Hlstory than in Geography ?
(a) 2 T2 -
A0 3 3
(c) 4 (c) 4
(d) 5 (& 5
e) 18 & 15 Tl (e) None of these
CGP-14-02* Page No. 9 Set-A



% frrferiaa & & o5 ot 3 spiver <1 s
gfoem 7 9 37 gt few 2
@) 1,3,5,6
(b) 4,5,7
(€) 1,4,5,7
(d) 1,3,6,7
(e) I &
19. 8@ 3% 4 % forw e & W i)
fRTa S5 §
(a) 15
(b) 20
MO
(d) 3rowricd arierg
(e) T & wrs e

18.  Which of the following students got less
marks in History than in Geography ?

(@) 1,8,5,6
Mﬁ, 5,7
(©) 1,4,5,7

(@) 1,3,6,7

\})@Vﬁ’bne of these

19. Percentage increase of marks in
Geography from student 3 to 4 is

(a) 15
(b) 20

A9'90

k/(clj Insufficient d_a}ta

: f th
/(Q-)’FTOFIQO ese | ; S
- (S0

. i f ti
. AR e frsrrengmae | % Mo o masrin m
1w B Geography is _ 29
(a) 0.45 (@) 0.45 J/’" T
(b) 0.50 (b) 0.50
(©) 0.90 (c) 0.90
(d) 0.95 (d) 095
(e) ¥ & =S e /Mo.ne of these
CGP-14-02 * Page No.“10 Set-A
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2

21. BHAFR YA H 60 FF IAERE | 3hem
H Ih 7 o
(a) 48
(b) 68
() 72
(d) Rerffa 7T e s warat
(e) TH | ¥ T

et R fors 1 Rt g X 1 T 1993 &
1999 T s %, A 9T TR |

1000

h
e

96-97 97.98 98-99

mmzzﬁ%wwﬁﬁhﬁamm
%lsqw:ﬁéamﬂﬁmt

22. 1994-95 8 1995-96 d& X & E o

e -
: ¥ ! ‘
21.  Student 4 got 60 marksjin Geography.
His marks in History are
(a) 48
(b) 68 JL
(c) 72
(d) Cannot be determined
-(e’j None-oflthese
The following graph shows the import of a

certain commodity X in Crore Rupees
between 1993 and 1999.

Import of X

A

g_oun
%
§ 1 1300
0 ©
E .‘/ 'b"
o s 95-95 %97 9798 9899

The question numbers 22 to 26 are based on

the above shown figure. Answer these
questions.

At 22. Percent increase in import of X from
1994-95 to 1995-96 is
(&) 43 (a) 43
(b) 33.3 /b‘;fs( 4
(c) 28.8 (c) 28.8
(d) 25 . (d) 25
(o) 7 A FK 7 —{e) None of these
CGP-14-02* Page No. 11 | Set-A
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23. wift ot & forg wrer & Wt x%aﬁaﬁ
ST 1 3Ed & (RS &, W)

(a)_. 260

(b) 280

(c) 325

(d) Trerffa =2 o s werar
(e) ¥ @ =g 7

24. o =l & forg, X o1 T 3o ehgq
TR G e o1 2

(a) 4
(b) 3
(c) 2
(d) 1
(e) 37 & =S &l
:25. 3 i, ol X o1 s, sted st @

%9 ¢ 991 et X =71 s1rma, g s
¥ a1feres R, ) e w1 o 2

23. Average of the increase inimport of X year
by year for all the years is (in Crore Rs.)

_Aay 260
(b) 280
(c) 325

(d) Cannot be determined
Mone of these

24. For how many years, there was more
import of X than the average import of X ?

(a) 4
(b) 3
Pl
(d) 1

{e) None of these

25. The difference of the numbers of years
in which import of X is less than the
average import and in which import of
X is more than the average import is

(a) 3 ey’

(b) 2 (b) 2

(c) 1 (c) 1

(@0 @) o

(e) s & =1 TEl (e) None of these
Page No. 12
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26. TfRea aut A o e, X & s

- ferell Uer o (@t aet) 3 St 3 e
77

(a) 1995-96 ©F 1996-97

(b) 1997-98 td 1998-99

(c) 1993-94 td 1998-99

(d) (b) T (c) 3wt

(e) T @ =g e

Frefafaa st (27 @ 33 o) o vow # v v

T QY Y 1 a2 ¥ | Snyent Rty o 2

U 1 TATFH2 T FT IR 3 F e vafeg § oy

T8t | et faeren g

A1) =t TR Y T IR Sad w1 @ e 2
Teheq et %2 @ 7 fireran

A2) AR ATIRY T T I et 2 Y Frerr 2
o et % 1 & Y fireran

A3) afe IR YT T IR F1 T F2 A1 F
T |1 AT & frern @ st Rr w1s off wom
I 39§ I 2 ¥ Fore vt e 2

Ad) IR I AT F e, w1 o1 o9 F e 2
YT &2 39 319 § yafeg 2

A5) 3f IR I¥T T I R U 2 A *
AT B off T e qon 3w wfe % fre
Fo Afos gum Y sravasea 2

27. a+bFANRIL?

26. For which of the following years, the
difference of import of X is equal to the
import of X for one (two) particular
year(s) ?

(ay1995-96 and 1996-97
~ (b) 1997-98 and 1998-99
(c) 1993-94 and 1998-99
(d) Both (b) and (c)
(e) None of these

Each of the following problems from 27 to 33
has a question and two statements S1and S2.
You have to decide whether the statements
S1 and S2 are sufficient to answer the
question. Your choice will be

A1) Ifyou getthe answer from 81 alone but
not from S2 alone D

A2) Ifyou get the : answer from S2 alone lone but
not from S1 alone.

A3) ' If you get the answer from S1 and S2
together although neither statement in—
itseif is sufficient to answer the qugstion

Ad) If S1 alone is sufficient tand Sg alone is)
sufficient to get the answer.

A5) Ifyoudo not get the answer from S1 ‘and
S2 together and some more mformatton
is requnred to get the answer.

27. Whatisthevalueofa+b?

F1:a42b=7 Siid+@b=7

$2:3a+b=6 S a0
(a) A1 (a) A1l
(b) A2 (b) A2
(c) A4 (c) A4
(d) A5 (d) A5
(e) T & =% et '_(e)""NBne of these

CGP-14-02* Page No. 13 Set-A
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28. i forg P, Q, R o W m | frg

29,

H,P@Q%aﬁaﬁ%mqa‘o,sovﬂaﬁ
W wE

Q@R%aﬁa.ﬁﬁmﬁqfr%?
$1:Pﬂﬁ§?onrﬁwﬁmé%l
_652 : PQ# gt QR @ 20% i 2 |
(a) A1

(b) A2

(c) A3

(d) A4

(e) ¥ & =g et
ﬁiﬁw%aﬁwﬁm@aﬁvﬁmﬁrﬁsﬂm
? 1 . w3 gm0

15 xS I Fve R Fwm @y

28. ThreepointsP,Q,Rareona straight line.
The point R is between P and Q. The
distance between P and Q is 50 meters.

What is the distance between QandR ?
7

| 1 |
S1 : distance PR is g’d of QR./
S2: distance PQ is 20% more than QR.

(a) A1
(b) A2

() A3

-

/(d)/,ii;i

(e) None of these

29. Abusis moving on the main road of a .
city. What is its speed in kms. per hour ?

S1: The bus is moving at a speed of
X meters per second.—

S2 : The path of the bus is circular. .,<

2 : TH HT U JAH 2 | (é)-’ﬂﬁ/
i o

(a) A1
(b) A2

(b) A2

©) A3 (c) A3

(d) A5 (d) A5

() ¥ & I 7l (e) None ;)f these

CGP-14-02* Page No. 14 Set-A



e

30. =l AwE B s 80 fh.t. g 30. The distance between two cities A and B
foredt wR A 4 e 3 R is 80 kms. A car contains 4 ltres of petrol.
T2 T o sl ol o o R R § 2 ';;Cﬁz‘_an thfiaicfo_v e[tﬁ?dlsfa_n_cftfhfeen >

(( two. cuties 7
F1: FRH 45 B 3R T h =@ 81: The car is driven at a speed of
_af”éi gl 45 kms. per hour. <
2 H @I 9y 20 B f, F el d | S2: The car consumes one litre per
20 kms = \f

(a) A1 %) //

(@) A1
(b) A2
(c) Ad ' \J’;(D.)/Aé
(d) A5 (c) A4
(e) 37 @ =1 Tt (d) A5

31. PfFa TR RA gy 2 () None of these

F1:RWAQRI
31. Howis P relatedto R ?
F2:QPHWER|
S1:Qis the sonof R. -
@ & 52 : Qis the brother of P.
(b) A2 (a) A1
b) A2
(c) A3 (b) )
(o)A
(d) A4 —
(d) A4
(e) T & wIE & Me of these
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32. ¥ 2008 HgHiarh I RTR 2 32. Whatis the income of Sunita in the year
2008 ? '

S1: Sunita’s income in 2006 is 10%

less than her income in 2007.

1: 2006 ¥ gfar it s/ 3gdht 2007
AT H 10% FA 2|

%2 : 2006, 2007 @1 2008 & Friar it $2: Sunita’s total income in three
FAHNI5AGE. B | years 2006, 2007and 2008 is
e e ———
Rs. 5 Lac.
(a) A2
(a) A2
(b) A3
(b) A3
(c) A5 /(c)""Asﬁ
(d) A4 ' (d) A4
(e) =i A B 7 (e) None of these

33 ﬁrﬂq@ﬂwaﬁﬁwﬁﬁmm@%%‘? 33. How much money do Mohan and
| Mukesh have together ?

1 : AET % T T A 10 7. 37 3 |

S1: Mohan has 10 Rupees more than

F2: I F AR 15%. FA | what Mukesh has.
S2: Mukesh has 15 Rupees less than

(@) AS what Mohan has.
(b) A4 @) A
5 (b) A4
(c) A3
(d) A2
(d) A2
(e) 371 & 1S e (e) Nc.me'of these
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34. :ﬁé‘qasaaawqawmmmﬁaﬁﬁw&
fRed

TS ;W YT WY % T e |

ey ;1) st wRy = 9

o & foe S 2 |

l) WRikTEl g e % R sre
ELE

Frfeafaa o ®mar wd 2 2

(a) Faet ey | Raear |

(b) et e (| Frsremr 2 |

(c) S Feared | w1} Ferem ¥ |

(d) = e | wg 7 € e || e )

(€) T4 © H1g

35. I w aed v 38 W HHTRE SREe

34. Below is given a statement followed by

two conclusions based on it.

Statement : ‘Morning Walk’ is good for
health.

Conclusions : [) most of the healthy
people go for morning walk.

I) Evening walk is not good for health.
Which of the following is correct ?

(a) Only conclusion | follows

(b) Only conclusion Il follows

(c) Both-conclusions | and Il follow -

’/(d)’ ‘Neither conclusion | nor I follows -

(e) None of these

35. Below is given a statement followed by

three courses of action.

e Efam (el -sn) A T E | Statement : There is significant
e v ol o 3 ety bome otes e
QR il §_§ Ll Courses of action : I) This ;;gglem
sk (Srfamet—3hm) : 1) vt % FR-Fg should be raised in the Municipal
H 3 AT B IS ST =Ry | Corporation of the city. !
) €8 & 39 9= 1 I3AT ST TRy | ll) This problem should be raised in
) T % 37w %ﬁ . mﬁﬁﬁ 2 the Parliament.
3 B/ IR Fa s =R | ) Hospitals in the city should be
. ot sﬁgé;zféitispropeny for the treatment___
S;f?‘;?) sl iy 2 Which of the following course(s) of
action logically follows(foliow) 2
(a) =< G Il (a) Only | and If follow _
OEESH (b) Only Jil follows
OEESARCE ""‘C’)ﬁy [ and 11 follow
(d) @« " (d) All follow
(e) 399 @ 1S 7 : (e) Nos?e of these
CGP-14-02* Page No. 17
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36. . 9 =R © ufFs ¥ w3 ¥ | A R

W @e AfFEl §, s T vargw o

T G SR ] | 0 918 R
T fofeheas it sitfl ot wer 2| 3

S T et sehier & <hff ol d 1w

whiseere, faftheas aun sslif 3 s
4813 Rl 6 TRy 2

(a) gmdt

(b) et

(c) =eft

(d) wielt

(e) 18 &+ 7t

37. uf 01 Fardl, 2000 Y waw o, Y 01
S, 2001 18R

(a) HHEw
. (b) HTEER
(c) AR
@ wfEm 1
(e) ¥ A 4 7 “

38. 2 Ferll, o o =it ol @ 22 57 2

T G ST STR & 1987 R, & i ol

o SHIET T e R 2
ZYXWVUTSRQPONMLKJIHGF
EDCBA

(@ M

(b) N

(c) L

(d) K

(e) 78 & #1E 7

36. Five persons are standing in a line.
Of the two persons at the ends, one
is a bank manager and the other is
an engineer. A chartered accountant
is standing to the left of a doctor.
Position of bank manager is to the
right of advocate. Chartered
accountant stands between the
doctor and the engineer. Position.of
the doctor from the right is

(a) Sécond
(b Third
" (c) Fourth
(d) Fifth
(e) None of these

37 Ifitis Saturday on January 1, 2000 then
January 1,72001 would have been
—_ grod e A T

t//(aj Monday
(b) Tuesday
(c) Friday
(d) Saturday
(e) None of these

38. Which single letter is exactly

between the two letters — one is 22nd
from left side and the other is 19th
from righAside in the following ?

zodiuTgraPoNMKime
 (Epcea - :

(a) M

b) N .
L

(d) K

(e) None of these

CGP—-14-02 *
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39.  STiSft ooterer 3 wuft aradl st arvrigen
It few # foran sen 21 9 w1 W
e TR 7T 3 B o1 ¥, i FRR
(TISTTeT) <hT 37 R

(a) 6
(b) 12
(©) 16
(d) 18
(e) 37 & % el

40. 10 Td 120 % st & Wt smsii o, S 7
A o Tl St € e R feht sht
T 91’ =T 3ok 37T 8, TRt s ot
13T 2

(a) 3
(b) 4
(c) 5
(d) 6
(e) T & #iS 7

41. 31, 215 39 59 ST 2 g ey
aft dearst (sit i T @ wed

2y x w v L)

X1 M T . & BB
o /

—~C
39. All the English alphabets C

arranged alphabetically in the
reverse order. The difference of the
pos%ﬂ f f two vowels whlch appear
in Qbeglnnlng) and in the end is
(@ 6

(b) 12

(c) 16
(d) 18
__{e) None of these

40. How many times the dig'rt_‘fi’_@ggejr '
in the numbers betweeg 10 and 12_0_
which are completely divisible by 7
and which consist of the digit ‘1’ in )

}a\w
( any P ‘f_ﬁ,
_(a)3
(b) 4
(c) 5
~d) 6

(e) None of these

41. The sum of all the 2 digit numbers
which are formed by the digitsd, 2 >

8) HrAm R and 3 (?epetntlon of digits allowed) is
(a) 132 (@) 132
(b) 148 (b) 148 B 3
(c) 198 _ ey 198 Lo
(d) 212 (d) 212 jse 2
(e) & & S e —{e) None of these e £
CGP-14-02* Page No. 19 'm:‘
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42, fTfafes et 42. The following words
SHRISHRI, SRISRI, SHRISRI SHRISHRI, SRISRI, SHRISRI,
SRISHRI SHREESHREE | SRISHRI SHREESHREE
o7 (R = are arranged according to dictionary .
il . )%ﬁm@.{ - rule. Which of them will beif the end 2)
o < & | 570 @ 9 o F @ 2 G = ==
(a) SRISHRI -
(@) SRISHRI )”smsm
(b) SRISRI A
(c) SHRISRI<~
(c) SHRISRI -
(d) SHRISHRIL -
(@) SH_R{SHRI (e) None of these
(e) ¥ @ 1 T
43. When we arrange the letters of the
43. = VRAKIE' % 31511 1 wgt %7 A word ‘VRAKIE’ in correct order, we -
M R, T8 T et 1 910 I S | get the name of a river. Fifth letter
39 99 ¥ 91 9 yieat aag R _from leﬂ inthatnameis =
il "
(a) R “@ (@R e A
) \I' = B /__
b) E AN B A
|
© | ¢ @\. (c)
AR @ K
(d) K ‘F‘
Ae) None of these
(e) s | &g e
44, In the following letter series, how
44. Freiferiian st sjaen 8 2G srer K A many letters of K are preceded iéi )
& % veel G R g e i P iR 2 but not followed by P 2
CLMGKPNMGKCLOGKLXG CLM@UPN_MQ,KCLoquxQ
KBKGKA KBKGKA
(a) 1 ) 1
(b) 2 b)2
(©) 3 - s
(d) 4 . _ (d) 4
(e) T & +15 <{e) None of these
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45. T=RkiRen & FET O, o7 @ e
(@) 2
(a) s
(n):ha‘
(c) Ta=R
(d) g
(e) 1 @ =15 78
46. Frafafaa d #Yaar s @ srem 2
@R 2
IR - fehe, R, Wi fhe, S, SR, 7
(a) Wiex-uTsfher
(b) =@
(©) &%
(d) =&
(e) T & 1S 7

47, @ TE de goft # s ue e | 98w

45. Which one of the following is different
(if any) from the others ? S

August, March, iuly, November,
January s

(a) August
(b) March

Lf(;;)——No/vgber
(d) July

(e) None of these

46. Which of the following is different (if
any) from the others ?

Motor-cycle, Car,- Cy/g@ Bus,

Scooter, Truck ~ ~———
(a) MO'(OI’-C).ICIG

(b) Bus

(¢) Truck

(d) SE/_qt,e_L

j(e)/ None of these

47. One term in the given number series

TR ? is wrong. What is that term ?
9_ 81
3,5, 13, 38, 87, 168 ﬁ%f%aész 168
S S
(a) 3 (@) 3
(b) 5 =5
(c) 38 (c) 38
(d) 168 (d) 168
(e) T8 T 18 T (e) None of these
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48. AWR+FMAAR ., » w0
Y x aq1 x A I + B, @
12+3+1-5x2 FAFE
(@) 5
(b) -

(©) 1
(d) —1
(e) T & =S 7 H’

49, I F TF TURT TS H ¥ U W H
R e gl e Ry § | e i
5 Y Tl T EEe ¥
() 49
(b) 44
e (c) 48
(d) 46
(e) T @ ¢ 7

ffafea e Aot = afew Ton 5@ arem Soft
Wmmﬁﬁsﬁsoﬁsaﬁamaﬁta‘lﬁml

8&@6&&??@“ dsm@'-!?é““'

50. aw{zﬁqﬁmﬁ FHE AT I TH
WAEE ?

(@) 7
(b) 9
(c) 8
(d) 10
(e) T € =S 7=

5*"‘

o

48. If + means :, + means —, — means
x and x means + , then value of

12+ 3+1-5x2is
- - X

> %
(@) 5 |
) -3 _. .
/,cej/f It — A
(@) -1 o B2
(e) None of these "y
Y- dpe

* 49. All the face cards of the colour are l

removed from the ordinary pack of
cards. The number of cards
remaining in the pack is

(a) 49

(b) 44

(c) 43 sl
(@46

(e) None of these

Study the following letter series and give
the answer of question numbers 50 to 54
which are based on this Ietter senes

;%gvi% GHluMUSTu

50. How many letters are not in their
usual place in the alphabetic order ?

(a) 7
b)o
o) 8
~ (@) 10 ’

(e) None of these

HTcaP-14-02+
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Eﬁ %maﬁaﬁzﬁmﬁ%ﬁmﬁaﬁu

W@ € ol are aurigen 3 3 2

(@) 4 =k

() 5

(c) 6

(d) 7

(e) T & =Ig A
52.'31&11‘?%5301135113@@13@@3:&7&&;

3 TS 9T 918 1 T ofer forg T
1Y AW AR ?

@ GJPV
(mEKow
(©) CHNT
(d BIOU
(e) ¥ & =3 et
53. I W UsEd & il il I grae

TSI o e st o7 ute Weitee 1w
HFY e B ?

(@ XL
“(b) TH
(c) HE
(d) SH

() ¥ & 1S el

51. How many sets of two or more letters
have letters in the alphabetic order ?

@s
s
(c) 6
(d) 7

(e) None of these

52. Some letters are preceded by and
followed by wrong letters so far as
their alphabetic order is concerned.
What are these letters ?

@ GJPV

/M Qw
(¢ CHNT
(d BIOU
(e) None of these
Y
53. . Which letters occupy seventh
position towards right and fifth

position towards left of the fifteenth
letter from the beginning ?

(e) None of these

CGP-14-02 *
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54. WY e 31ar 3 3 vEel Al aR D 54. Which letter is three letters ahead of
T 37eR TR FiEr e R 2 the letter, which precedes third letter
: from left ?
(@) F
(a) F
(b) G _
(b) G
© E el
/(C) E
>
d D
(d) @ D
() ¥ 9 = L (e) None of these
f/;h\’
55. wh Bys ABC #, BC &1 wex fag H 2| ( ?y In a triangle ABC, mid point of BC is H.
o f?r‘lﬁ ABC &1 -5 P ® | 91 AP = "~ Centreof gravity of the triangle ABC is P.
' Then AP =

1
(a) —AH
. @) 5 AH

1 A
(®) 5 AH 3
. g AH

2
© 3AH ©) —2— AH
1
(d) 7 AH (d) % AH
() ST | IS e lone of these
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56. Th &I 3 W ST G 99 % SR
B R T T TRETeh T weh v 6
T §

(a) 327
(b) 337,
(c) étﬁ.

9
(d) "2-Iﬁ.
(e) &8 @ 1S

57. 3t ROSE %! %z w1 # TQUG Rvat
&1, /1 BLUE = fordit

(a) DNWG
(b) DMQP
(c) DMVF
(d) CDGF

(e) 8 & =E 7

58. 3af} 987 ¥ wWH W 123 forar s @, @

56. Aroomiis in the shape of a cube of side
3 meters. The length of the longest rod
which can be placed in the room is

(@) 32 meters

,(b)S/J§ meters
e

(¢) 3meters
(d) meters

(e) None of these
™

e ol

‘h S s e M3
It ROSE is coded as TQUG, BLUE wil
be cod@i:i—as ./ DN
ﬂﬁwws
\.)\

(b) DMQP 0, A

VvV, 8
(c) DMVE § /
(d) CDGF /%

(e) None of these

/_SL\&-- N
AT -

el @ I'fiéééandsfor?é?, then 234 stands for
(a) 785 (a) 785 8¢ 4 =
| f
Sl (b) 567 & o /1
A\ /\\ E\ S Qh A
() 678 ) 678 Gy B f A
/ ' o / %-%
/ o
(d) 586 (d) 586 ;o
(e) 1 & =g & ey None of these .
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59. g ue dferent €1 T R

RO o & ard

(e T ) (e &)

39.9 27 4 1961-71
a7 228 1971-81
411 18.9 1981-91

39 TTTTehT & TaT S7TdT & fob Siede gag
371 951 @ 39 W

(a) 1961-71
(b) 1966-76
(c) 1971-81
(d) 1981-91

(e) 391 ¥ 1E 7

60. fefcrRaa & it st & srem @ (@R 2 )
38 BT |
i, O, =, 3%
(a) Ui
(b) &
(c) =i

(d) 5=

(e) 4 | g 7€l

50.

60.

Below is given a table

Birthrate Death rate Year
per per
thousand thousand

39.9 27.4 1961-71
41.7 22.8 1971-81
411 18.9 1981-91 _-

From the above table it follows that
the maximum addition of population
occurred during the period

(a) 1961-71
(b) 1966-76
() 1971-81

@ fonistt

(e) None of these

Find the odd one out (if any) from the
following.

Pencil, Pen, Chalk, Ink
(a) Pencil
(b) Pen

Ue) Chalk_
() Tk

=

(e) None of these
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61. Frerferfan & < el & srem 2 @R 2 @)
34 B |
14 991, 19 7a%=R, 5 fqen
12 SHal, 2 Serqert, 30 SR

(a) 19 Fa=R
(b) 5 st
(c) 30 sadl

(d) 12 sl

(e) ¥ & s el

62, SWwIRI W aIg N T2
| (@) wedi &
(b) T &
(c) Tt &
(d) fafeen @
(6) ¥ & 1S T

63. HIETeHT T T (F1d) ¥ It Ty & =Y
(a) e s o=@ ?
(b) e st fRerft @ @
() T HFTH AR
(d) e T SR 2

(e) ¥ & &1 Tl

61. Find the odd one out (if any) from the

following.
/i4 November, 19 November,”

/5 September, 12 ;}E_nuary. 2 October,
30 January 8

(@) 19 November
(b) 5 September
ﬂanuaw
(d) 12 January
(e) None of these

62. Shoe is related to Leather as Brick is
related to

(a) Stones

(b)- Fire

(e Ciay
(d) Building

(e) None of these

63. Interview is to service as
(a) Ticket is to travel
(b)rﬁmination is to degree
T
(c) Travel is to bus
(d) Lightis to darkness

(e) None of these

CGP-14-02 *
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64.

i faw ™ gy W few Sife

- Ue$F : 99 : I

5.

e Ry ™ wee-aqgl § & S sw
T ST TRy g9t 2

(a) 9 : SIES : MArER

(b) STEHM : TGS Ve : UL

(C) TS : &R : YGATEAT

(d) ZT:F : 39 :

(€) T & IS e

THRIT 379 R @ wreran € | STR-ivem R
10 i we ¥ 912 9% =for-gfem
R & 20 fix v 21 R 9 <Rywi-
E R # 20 et s 21 o 4w
U TR IR g ST R ) W e
femdAsnwig 2

64. Consider the relationship given below
Road : Bus : Driver.

Now choose the group of words from
the following which shows the same
relationship as given above.

(a) water : ship : diver
_(b)-sky ':Eerqplane : pilot

(c) péper: letters : reader

(d) track : train : passenger

(e) none of these

65. Rakesh leaves from his house. He
walks 10 meters in North-West direction
and then 20 meters in South-West
direction. Next he moves 20 meters in
South-East direction. Finally he turns
towards his house. In which direction
is Rakesh going ?

@) afém-qs‘ (a) South-East
8, b) North-West
(c) =Rmor—afem {b) Hlosth-Wes
(d) SR (c) South-West
(6) T & Fré Tt (d) Noﬂ_h~East
' : (e) None of these
66. T O IR w5 A e w1 wwg sar ~
2R AEERRMTRYL DA | g5 A watch shows the time of 4.30 hours
o2 ) ¥ FEh Ran s 2 (4 hours and 30 minutes). If the minute
hand points East, in what direction will
(a) SwR-d the hour hand point ?
(b) afaq_t@‘ (a) North-East
(©) T /,(b)' South-East
(c) North
(d) STR-vfem _ (d) North-West
(e) 37 @ =+ 7 (e) None of these
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67. Fefoafes = w syt o # =afer
s

1. wqEm

2. g

3. ufEn

4. 29

5. T

(@) 2,3,5,1,4
{b) 2,8,8,4,1-
(0) 2,8,1,8, 4
(d) 2,3,4,1,5
() ¥ & = e

68. Fifefi 3 wh srofyl 30w 3 99 4 73
A 3 saf@rm B

67. Arrange the following in a meaningful
order

1. Community

2. Member -

3. Family _I

4. Country

5. Locality

(@) 2,3,5,1,4
/(b)/zfz;‘s 4,1

(€) 2,3,1,5,4

(d) 2,3,4,1,5

(e) None of these

i e 68. Arrange the following in a logical order
i from small to big -
2.9%H 1. Flat
3. 48 2. House
4. S 3. Palace
5. Ffam 4. Bungalow
(8) 1,2,3.4 5 5. Cottage
(@) 1, 2,3,4,5
b)"5,1,2.4 3 .
(b) _M5,1,2,4,3 —
(©) 5,2,1,3,4 € 5.2,1,3,4
(d) 5,2,1,4,3 (d) 5,2,1,4.3 -
(e) 378 4 =S e (e) None of these
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69. 39k W T WHT 990 It =5y Y o)
Pt < e % e e 3o fmeror S
® | 3719 T H4Y ?

(a) 31 foaTeYera 3 et sufeere 4 s

(b) @19 =T @l For srmer W

(c) 3mT TEeh! 9ot 3 g wARYE F 7 ay
T T S STEHT ST

(d) 3 3wh & Rig 9 sur @i

(e) ¥ & = '

70. 3719 T SRR E ot ST s v
HGAT FH 3k & T @R | oy
Ht 2
(a) 19 IEH Gu & e Fw T ik

&

(b) mm@rwm_aﬁaﬁrwm
61 YA HT

() amzwwmmmﬁﬁ

(d) @9 38 Fafeg w5

(e) &% & =g e

71. ST IF Tereherd d ged 8 @ ue
T frererar &
(a) F& Feert 3 v T B
(b) T et e o §
(c) eeTer hrer e 35 forg
() =TS geerTery Jeeh Toe e &
() ¥7H & g e

69. The cook who prepares food in your
house has invited you to his daughter’s
wedding. What would you do ?

(@) You will just attend the wedding
(b) You will ignore the invitation

- (¢) You will cohgratulate him and
make some excuse for not
attending the wedding

/(d)/\"ou will buy a gift for his daughter

(e) None of these

70. You are an officer and one of your
employees is not perfoming his duty
properly. What would you do ?

(&) You will give him some more time
to improve '

(b) You will talk to him and try to find
“out his problem

(c) You will transfer him

(d) You will suspend him

(e) None of these

71.  From the statement ‘Every library has
books', it follows that

(@) Some libraries do not have
readers

(b) Books are only in library
~ (e) Libraries are meant for books only
_Ady No library is without books

(e) None of these
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72, SEA qﬁmmnﬂaaﬁ%ﬁ%ﬁ%’aaz
T frererar @ 6

(a) @ i =afeq i war g © 9l
394 I B

(b) T Tt ot wRveT S BT 2 f’<

() W T =t g A g <

(d) @nﬂaaﬁﬁq\sﬁwﬁﬁﬁm%’\

(e) 375 & 18 &

73, qmman‘?%ﬁsﬂ%%@%@ Fifter 3 e,
“Suehl wt A e % g o welt R | o ik
SEES R [ SARIE g S .

¥ forg yern TrafRa & 2

(a) grfter =1 g

(b) Tt et <rrer
(c) FrfieT <1 s
(d) Grfiet a1 ehst
(e) 37 ¥ K T

| 74, T HigeT il 3R IR g, U et
T HE I0F IS 0 T A weht
R 21’ 9% witen, s@ smedt ¥ e v

72. From the statement ‘Ability is poor
man’'s wealth’, it follows that

/H’A/poor man can earn wealth if he
has ability

(b) A wealthy man is always able -’
(c) A poor man is always able -7’

(d) A poor man has the ability to earn
wealth :

(e) None of these

73. Looking at the photo of a man, Sunil
said, “His mother is the wife of my
Father's son. Brothers and Sisters |
have none”. How the man in the photo
is related to Sunil ?

sl
/(a}'Sunil’s son
(b) Sunil's uncle
(c) Sunil's nephew
(d) Sunil's cousin 1

(e) None of these

74.  Pointing to a lady, a man said, ‘The son
of heronly brother is the brother of my

TR g ? wife." How is the_lad_y_ rfaigted _to the_mEfr P
l (a) gt (a) Daugfte{
(b) WX F 5 (b) Srste;r of father-in-law
(c) = (c) Grandmother
(d) Wi 5&A (d) Mother’s sister
(e) 310 & IS e (e) None of these
CGP-14-02*
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(a) |rett

(b) el

(0)
/| p@ (d) =T
la (o) T & 7

Z/ frfofea Yo = e

76. WA R @ R wny i wafd sga ol
? TR oft e 1 Tt B | 39 oft 7 ST,
Sy ST e | Fafy e te srrervashan
2 9% ¢ For Togaen! < wiersh @ Hym & ufd
I TTE F FH FH F AN T
fopg s =R |
%ﬁﬁammﬁw@mm%m
25

(a) P wR A AT [

(b) Tt & =ufaqea &+ o Tym & gfd
Fale T T T8 8

(c) %vm % wfa e 9 fera ST =Ry
(d) = =t et e & 1R T T

75. Find the odd one out (if any) from th
following.

brother-in-law, Iécturer—m-law}ster-ivri

law, father-in-law, mother-in-la
daughter-in-law

(a) Brother-in-law

(b) Sister-in-law

(c) Father-in-law

(d) Moth?r-in—law . |

/(e')"l"&one of these

Read the following passage :

: Naste of time and the expenditure o
fashions is very large, yet fashions ar¢

here to stay. They will not go, whateve
happens. However, what is nov
required is that strong efforts should b¢
made to reduce the excessive craze fo
fashion from the minds of youngsters.

The passage best supports the
statementthat

(a) Fashion is the need of the day

Excessive craze for fashion is no

good to one’s personality

(c) Craze for fashion should bt
reduced

(d) Work should be valued more thar

ST IR A - ,outward appearance
o) FH W 7 (e) None of these
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% @a&mﬁ%@ﬁm,@w@smﬁmﬁm
1YY AT § | e T R
(@) 2.30
~ (b) 3.30
(c) 4.30

(d) 5.30

(e) s & IS H&

78. s gofgren F (a2 wiewd H) W@ AAwd
e it 3 wfdfee gt i S dl 8,
e
(a) 8

(b) 7

(e) 0 W HIE A

79. AW o1 uw et (fi 50 .. ufd e
a2 o we nrenEl s faudia e g e
R, 9dFs T 38 IR R el ¥ | HIErTE
$ o 280 M ®, df (.. ufd =wer H)
3! 7T B

77. When seen through a mirror, a clock
shows 8 hours and 30 minutes (8.30).
The correct time is

(a) 2.30
(b) 3.30.
pl

4.30
(d) 5.30

(e) None of these

@ The number of English alphabets (in

—~" capital letters) whose water-images are
same as the original letters is

(a) 8
(b) 7
(c) 6

@5

=l
/,..-fe’f None of these

79. A man sitting in a train which is moving
at 50 Kmph, observes that a goods
train, travelling in opposite direction,
takes 9 seconds to pass him. Length of
the 99_(_)95_ train is 280 meters its speed
is (in Kilometer per hour)

(a) 58 (a) 58
(b) 60 (b) 60
(c) 62 (ey B2
L
(d) 64 (d) 64
(e) T8 A &S A& (e) None of these
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80. UH ¥ 108 T, ufty uod < fy @ 5ot
| 3Eeh ifey wew 9y Yo 7 3

(a) 10.8

(b) 18

(c) 21.6
_ (d) 32.4

(e) ¥ @ 13 e

81. UF =ufe 7t % e ) Ry ¥ 32 fs o
don s % Tl 14 B, A o @

1 8 TT I3 gt & T 6 702 @
RIECEEIR AT R oS B

(a) 1
® 5
(© 1%

(d) 2

() ¥4 @+ 7

82. A TT Awd B frelt <ot bt e 36 v
W 4590 § wwHd € | afk 2t argw ww

80. A train moves with a speed of

108 kilometer per hour. Its speed in
meter per second is

(@) 10.8
(b) 18
(c) 21.6
(d) 32.4
(e)-None of these
81. A man rows downstream 32 km and
upstream 14 km. If he takes 6 hours to

cover each distance, velocity of current
in kmph is

(a) 1
b ¥%
P

(d) 2

(e) None of these

82. Two pipes A and B can fill a tank in
36 hours and 45 hours respectively. If both

e 2 ® W At Y g § o) T the pipes are opened simultaneously,
STt 2 how much time will be taken to fill the
tank ?
(a) 10 gue .

(@) 10 hours

(b) 15 =we (b) 15 hours

- (0) 187w (¢) 18 hours

(d) 20 v 20 Hours

.
() ¥ & = T (e) None of these
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N
Th

T u{/
| c) =T

(d) ®™

(e) 3

84. “maga%‘twasaﬁ%”émﬁaﬁm
w0

85. = W & S vss glew TE R 2

86. Torm e | qui femviar o a1 ST R 2
(a) I AT TR
(b) R T B TR
Bg,\c)/rrfﬁruamaﬁm
V"’(df mﬁﬁﬁﬁaw
(o) AR

87. WEIZEY ¥ i qHE { 7

(@) e

g

(c) sEsifR

(d) &%

(e) Ty

88. frjur & s Ium § 2

(a) € M f
(b) e (b)
(©) ¥ \/w'f{
\}@ ' (d) fom
(e)‘ AR (e) g
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(d) =

(e) |T

0. FT¥ ge d A qER w1 e

92, WER 1 Haes &
(a) w2t
(b) e S
o
(d) verEn

(e) ¥8 & =IE

93. %ﬁmﬁ’gmaiwawef%

Taig ?
(a) IReFR ST
(a) ST g arsha |
_-T6) e g
(b) ST _
g
A s v e
(d) ¥R H e L
o1, 37T 1 e 3 94- “EIE'{E?F'HT TR e R
(b) e g @
W@Hm
(C) [ 98 T AT
(c) 3w ey
(d) 7 g oy ) A w gen w©
(d)m et EI'F{T
(e) ¥ & wIE 7 (e) 37 A #E 7
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95. WM (JE-u2) ¥ T et v
L—Ta) sl

(b) =Rl

(c) e

(d) s

(o) T @ K Tt

986. ﬁgﬁs AR ¥ T HS TohaH &) Belleed o
FeEd B '

08. sqﬁ@mmqaw-wwwhqﬁa ?
(a) wet-avet

(b) -

AT

(é)sqﬁﬁaé‘r%qﬁ

99. AWiwi/wW ¥, we v w9

S ORE L
(a) wug (b) # &1 et
(b) \ Q) A d
@ T (e) T & s &
(e) ¥ & HIg A 100. B i fot 3 forg S g gaas 3
97, ‘@ryar = uaes 2 (a) 3R
(b) et
(c)
(c) @
(e) T & w13 & (e) T § g el
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